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A token is the smallest part of a corpus. Typically, any word, number or other sequence
of characters between two spaces count as tokens. Punctuation also counts as tokens.

A CQL has to contain one pair of square brackets for each token, i.e. two tokens [][]
three tokens []1[]1[]. Conditions for each token are inserted inside the square brackets.

see result in Sketch Engine
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two nouns [tag="N.*"] [tag="N.*"] http:/ske.li/fi1

noun and verb with one random token in between

[tag="N.*"| [] [tag="V.*"] http://ske.li/fi4
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CQL on YouTube:
http://ske.li/cqlvideo

@ CQL web guide:
% http://ske.li/fiu o
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